Ol & A S & Al A

S X
B o200 HElSY
2o 200 FATAIRIAY
8 ol ABEay (SHol: &)
SN-H-B-F-2 o 4 o T 0l are HimE=£T
z 2 26,684,206 27,211,692 ~527,3%
Rieiz= 2t 26,684,296 27,211,692 ~527,3%
200 242! 23,808,906 22,304,202 1,479,704
210 ZAE A 24l 22,962,361 22,304,202 658, 159
212 AB24Y 3,938 3,674 264
21209 JIELAIER R 3,938 3,674 264
OSHAWUHRISAIL QALFL RIMBE 4 3,938
213 24249 22,107,962 21,320,528 787,434
213-02 HDIZH2l 448 18,995,762 18,274,001 721,671
OBZH 25 B+ 14,705,000
OLRTLS(MES AEIH) BOHSY 1,580,000
ORFID H2l448 4 1,631,712
OB Holgrel 448 10,000
OUEHDIZ Hal+42 1,069,050
21303 TS E4I1 B2 3,112,200 3,046,437 65,763
OMESELLE HHEES DS 2,654,844
OMEEE PREZS ¢ 457,356
214 AtR%-el 870,461 1,000,000 A129,539
214-01 AHZEA Ar2el 870,461 1,000,000 A129,539
OSHAMUXIBAIL M) +2 96,461
AT S AL HIZ B2 494,000
OLTHAIRHRAEBIAIL F2{BOH4L 280,000
220 A A2l 42l 681,545 0 681,545
224 J|ER4] 681,545 0 681,545
20407 1242l 681,545 0 681,545
OYRHIIZ Ol¢2E2s 423 62,202
OLTMAIRIRAEBAIL A2ADE TS 6,840
OXtIZBHAIL BCHBIAIY DRI B2 550,000
OZSMA SHEIHI(IREEAIL) 37,849
OZRMA BHSIHI(SASKIRASHAIL) 8,654
OZSMA SHEH(HESLBR) 16,000
230 NLSIHM - 223 140,000 0 140,000
231 Bz 100,000 0 100,000
231-01 HED 100,000 0 100,000
OHDI2R2IY S 28t IS 100,000
24 ez 40,000 0 40,000
23402 JIEFDENE 40,000 0 40,000
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H & 0l & AHS B Ml A

A =2t
Hm: ZRCA X4
ool Nt dEed xd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
@ =gt 66,709,804 68,235,400 1,525,506
= 1,512,100
== 1,368,290
Al 63,829,414
SeCAl x4 65,528,180 67,264,648 1,736,468
= 1,512,100
< 1,368,290
Al 62,647,790
& dasd 4 41,708,747 28,117,434 13,591,313
MEMYD] = 2el 41,336,09% 27,747,732 13,588,363
201 er23 | 137,012 125,282 11,730
01 At2teltl 132,560 125,282 7,278
OSEN S5 T EXE M
5, 0002 *6000HK 3,000
08 S5 MH 25,040
-304 2,430
—504 14,160
=751 8,450
O338 S5 MA(HF2ULSHE) 54,750
-50¢ 1452 %110,0000K 15,950
—754 1943 %200, 0000HK 38,800
OSgM S52281) R ==
66,0003 * 12 792
OdgM D] tHECHH 222 MA 22,360
- 1002 %100,0000K 10,000
=t 78,000 * 120K 9,360
—AEIA 1002 *30,0000H 3,000
Odgmll= =& - 2L HeHEH EIRIE
=g 14,840
—doteldsl ?Id =4
70,0002 x22]x6 & 840
-SdEY A2 ¢
70,0002 x10€ 20 14,000
OUE HIIENS NS HHIER=
800,000&x 12 9,600
OUEHII= JtI=2M S| SXz
181,500 »12& 2,178
02 S5=24g4l 4,452 0 4,452
OUEHII= tI=2M 22| Stl=
121,000& ~12& 1,452
OHIIE 22X SHAIE Fele=d 3,000
203 =8| 3,000 4,500 1,500
03 A=A H R S| 3,000 4,500 21,500
OB LA HIEFY| 3,000




A A=
M ZecAl &4
Rl N MEetd Y EEREE)
SA - BE - 9(3H) - KA - BES Ol &t G o B2
206 M= 4l 1,546,950 1,268,000 278,950
01 =4l 1,546,950 1,268,000 278,950
OZEH =5 M= 1,244,600
"y 37:1:900, 0000} 33,300
-10¢ 472+5,600,0000H 263,200
-2014 663 +8,200,0000H 541,200
-50¢ 145&+1,000,0000H 145,000
=754 1942 x1,350,0000H 261,900
OZHHM =5 Ht2E oI
7&%17,050,0000H 119,350
OSSN OFcH M 183,000
-10¢ 4002 *45,0000K 18,000
-2014 5002 *330,0000H 165,000
207 A OH | 35,000 55,000 220,000
01 A= H| 35,000 55,000 220,000
OMgMgD| =28 HEHS M HIotES
15,000,000& * 14! 15,000
OFAYLNY 2IHIE B
20,000,000& *14! 20,000
307 QI2Hol A 39,614,133 26,281,150 13,332,983
05 EIR”IAE S 39,614,133 26,281,150 13,332,983
OWEHD|IZ =& - 28t & JIZ2HA A= 37,916,133
OZHHM =5 s &= 166,000
OUEHIIZ MeltdZ2(HSMHE S) 1,532,000
MEMY D] SEMe 28 302,250 354,102 251,852
101 Q124H| 233,802 273,473 239,671
M IItHZ2E2SEs 233,802 273,473 239,671
OgxIMe D] = 21FY
9,860& *8A| 2t 15ZH 20 23,664
O=sclsul edXzol 24 210,138
-2= 9,860 24 H 4 A| 2+x 160! 151,450
== 9,860& *4A| 2H<24H +32 30,290
—AX=E 9,860& *4A| 2H24 H+8 7,573
—40f 282 189,312,000 *11% 20,825
201 ZEeH2E ] 38,448 40,629 A2,181
01 ArR2eltl 23,868 28,629 A4,761
oMol =H AEBF P 2,700
OoXeDl 2SI =X e M=
21,0002 10004 2,100
OoMeDl 28SI| =X =2 &
78,0002 *400H 3,120
Olg ZXHIIE =HE FHIYX=Z
700,000 & *43] 2,800




A =2t
Hm: ZRCA X4
ool Nt dEed xd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OsgSIg= S232)
8,000 x4Ax 17 x 12043 6,528
OSgSIIt=R 1=yl 6,120
-S= 150,000 * 17 2,550
—-ot= 100,000 17 1,700
-9 20,0002 17 340
- A S (S 50,0002 17 850
— &R 20,000 17 340
-t 20,0003 x174 340
Oodblsr 78 & 24 S5 XA 500
2 s5=34l 14,580 12,000 2,580
O 28SI| 58 JFUHE AIE=
50,0002 *5CH* 1204 3,000
OXNEXxE, N34 IV EIIANEZ
5, 0002 *38CH 1204 2 1,980
OADIEZDE(D/A, 01S4) A&TH R
;] 50,0002 = 156CH 7,800
OJIZNZ2 X Mol2& MF2E I+l
75,0002 x24H 1,800
401 AlZHIZ SO 30,000 30,000
01 A28l 30,000 30,000
OS"YSEI| ?=E 0V X
15,000, 0002 =2CH 30,000
HolS 2l & & 70,402 15,600 54,802
201 er23| 8,200 13,200 25,000
01 At2tltl 8,200 13,200 /5,000
OHDIZ A22s AA+4E
1,000,000 #5704 2 5,000
OHDIZ NSHAHE S =y
250,0003 4 1,000
OHDJIZ B2 428 7Y
100,000« 12& 1,200
OHVI= =Yg &0E g R=
500,000 22 1,000
401 AlEHIZ S 0HbI 62,202 62,202
01 AlZ2H| 62,202 62,202
Ogxlmll=Z MelES
62,202,000 * 14! 62,202
daMgd|o tEA el 22,797,131 29,605,514 6,808,383
= 1,446,000
=S 1,262,100
Al 20,089,031
ed =9 660,540 593,972 66,568
101 ©1AH| 24,262 18,617 5,645
M ORNZZ2NSE S 24,262 18,617 5,645




A =2t
3 ZeA =4
Sl MEMDo eHEA XHel (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXgied Holsd+2 21| 24,262
-Jl== 9,860 *BAl 2tx170 13,410
—=24| 5,000& 170 850
-RERLsE 9,800 *BAIZH 11 868
-FiRasrg 9,860 *BA| 2H+34L 2,682
=P a=Eas 9,800 *BAI2H8L 632
-ER2R4E
9,860 *x30AI2t+1.53]+83 3,550
-L=H(etdst 8) 150,000& *14] 150
== 2,120
201 er23| 452,278 370,355 81,923
01 At2teltl 183,128 193,755 10,627
ONYE E2RY AN 222
,310,500& *2I1 A +42] 34,484
Ol EASEEEE S8 S &X
260,000 «1CH* 122 3,120
OUNE SHIIA 2AF 242
250,000 #2JH 2 #22] 1,000
O HES S 2T2AMN 242
341,800 x242] 8,204
OAZZ2 HEE EHS 248
3,000,000 *2JH 2= 6,000
OMBE &0l OHE s TAF 52 442
20,000,000& * 14| 20,000
OYE SBYM(EE) 242
130,000 *502] 6,500
Ogd Mojetd2e| ez
200,000 x204 2% 123 4,800
O Z ADIIIAIAL(CCTV) X POIZHIA
A 170,000 *3H A x 12 6,120
ONE HURX AXR ZHHI} 242
4,000,000 *2JH 2= 8,000
Olgd & FExcd 2el2d 223
- 3,000,000& *14] 3,000
O==ZAA M8 2 3,000 *300H 900
O & HYRX X2 (198X, 48,976m)
75,000,000 * 14 75,000
OUEE JIadHDI= dels &l SXtg
2,000,000 #32] 6,000
2 S52g4l 269,150 176,600 92,550
OUMEAIE SAZelb(MSMMEE 2 19H4)
42,000,000& x14] 42,000

150,000 %1 4! 150
OZELHelAIE =5 DA, HI| 2=2lz=4(
DHOHRIE 2 10HA)

42,000,000 x14! 42,000
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2A: NE=2tt
Hm: ZRICA X4
Rl dEM Dol HEH Xl EEREE)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O d =8 FOIX& A& 2ld
15,000,000 14! 15,000
OUEHE ARHY =041 Al &X & DI
= == P E 63,000,000 14 63,000
OlEHE MEAE =&
35,000,000 14! 35,000
OB &) & 445 23
6,000,000& = 12& 72,000
206 M=l 9,000 25,000 16,000
01 b 9,000 25,000 16,000
AE+HIAE %F 2
5,000,000 * 14! 5,000
O Yooz 7y
4,000,000 »14! 4,000
307 212+01 ™ 175,000 175,000
05 QIZtRIEIS 175,000 175,000
OTYMYE HIIS MR Dl UXE
130,000,000 * 14! 130,000
O&Es MelAlE 2eltdHS (NG E
| 1) 45,000,000 14 45,000
NH=SAIE 22 6,942,272 8,071,851 A1,129,579
101 eI24t| 86,419 82,190 4,229
M IItHZ22SEs 86,419 82,190 4,229
OXATEAIE FOIZAIR 21| 86,419
-J|lE2=3 9, 8603 *8A| 2H2H 237 37,390
=gaa] 5,000 x2H %237 2,370
-9238Y4g
9,860 *8A| 2H*2H x65 10,255
B PNESI= 9,860& *BA 22T x 11 1,736
-S42fY 118,320 2% x64 15,145
- =2 14,7903 x2H x210A1 2+ 6,212
—-404 BEZ 7,311
-g&= 3,000,000&*2H 6,000
201 Ler2| 23,000 4,200 18,800
01 Ar22eltl 2,700 4,200 A1,500
OXNE=SAIE =HISX A FXAIIS
2gM99i/s Y@ AL
70,0002 x5 23] 700
OXA=2AE 2H SE= ME 2,000
2 S=29| 300 0 300
OFCUZARE MoiEEMASE IJr|
150,000 x2H 300
03 @At2ZH| 20,000 0 20,000
O=Fs=E20d 29 20,000,000 3 14 20,000
307 I2H01 ™ 5,436,226 6,677,800 A1,241,574




A =2t
Hm: ZRICA X4
Sl MEMDo eHEA XHel (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 5,436,226 6,677,800 N1,241,574
OXt =2t A5 2| 5,436,226
308 AXIHSOIA 1,396,627 994,161 402,466
07 HXHH2LREES 1,069,857 600,000 459,857
OJtgld Hole Z9Xel === 1,069,857
14 JIEtRE3 336,770 3%4, 161 A57,391
OdgHIIZ M2 FE=3 336,770
— ASHAMAIKIRHEAIE)
10&%47,000,000kg=*1. 132x25% 133,010
—OHE 15&%12,000,000kg=*1.132 203,760
A= AIE SUHAIE 1,023,544 2,023,520 A999,976
201 fer= 3| 23,544 23,520 24
01 AtR2te|HI 17,920 17,920 0
OFCUXHE AN AIRE SXE
1,320,000& 129 & 15,840
OReetEotnlel(nEAL AS=)FEI| &
N = 2,080
2 s5=34l 5,624 5,600 24
O=F2UXNHEAM AR &)= & 2l
] 350,000& 1204 & 4,200
OZFVNAEOT AIRA SR 442
77,0003 122 924
OReetEotnlel(nEA!, ASHE)23H|
71,428%+7& 500
701 JIEtRI NS EHES 1,000,000 2,000,000 1,000,000
01 JIEt=I AN ES 1,000,000 2,000,000 1,000,000
OXH =& A& BUHSIAIY AlBl RE3 1,000,000
SASXdIl 2el 4,399,232 4,605,582 206,350
201 et 3| 92,160 97,760 A5,600
01 AtR2te|Hl 62,160 67,760 25,600
OSAlSXe)| SRES(HESEAEIS)MH 50,000
OSAlSXdI| SEM =8 & 2 2=
NES 8,900
-& 2003 %25,0000H 5,000
—s=o 78,0002 *50K 3,900
OSASAI| 2dANAE oA =&
70,0002 *12(+8% 560
O84al2 Nt elANE EIIZA =8
2,700,000& %12 2,700
02 S3=gl 30,000 30,000 0
O84alE NEHeAE FRE=
30,000,000 *14! 30,000
207 AR 23,000 10,500 12,500
01 H7ESHI 23,000 10,500 12,500




A =2t
Hm: ZRICA X4
Sl MEMDo eHEA XHel (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSAS2XdDI XMeld| 2otE 89
8,000,000& *14] 8,000
OSAl=Md)| €4 SNl A&l & 81t
gt 89 15,000
301 22N = 163,172 175,584 A12,412
14 JIEt2 8= 163,172 175,584 12,412
OBEFE FFID 4XSH0 02 Bola22
920& %147 , 800K CH* 109+ 122 163,172
307 elzto| & 3,898,500 4,259,738 A361,238
05 212t =S 3,898,500 4,259,738 A361,238
OSA22 HII2 Ml
3,898,500,000& * 14 3,898,500
401 AlZHIZ SO 200,000 200,000
01 A28l 200,000 200,000
OSH=0UXISAE H=28SE 229 u
HIEXIZ A 100,000
OSH=UUXIZAIE A X HEFSAE 100,000
402 QI2F X201 & 22,400 50,000 A27,600
01 QI X2 AL E A (KEHITH) 22,400 50,000 A27,600
OSAI2 22I10| SXIBES NV
200,0002 *112CH 22,400
Hess 2l 2,673,972 2,824,483 150,511
101 ©1AH| 27,897 36,560 A\8,663
M ORNZZ2NSE S 27,897 36,560 28,663
O=tBIIZ=AIE 2B ZHIE 22l 50
- L=l 50,000 *1& 50
O8tBIIZAIE 2B EHIE 1Ay 10,251
-Jl== 9,860 *bA| 2H+1EHx 143 7,050
-rasdrd
9,860 x5A| 2H* 1830 1,923
RPNE =TS
9,860 +bAI 2H+1H 7 346
-28= 9,317,700 *10% 932
oel 8| gtet-da 2 22| 17,596
-Jl== 9,860 »4A| 2hx 12 %208 11,754
-RERLre
9,860 *4AI 2+ 167 2,643
RSP = RSy
9,860 x4A| 2Hx 1 <12 474
-2&8= 14,868,880 *10% 1,487
-Ex= 1,238,000& x1H 1,238
201 er23 | 187,700 186,250 1,450
01 At2teltl 71,300 88,950 17,650
OXNENgE 2 28 MH
2002%10,0000H 22 4,000
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2A: NE=2tt
M Al =4
S Mo A Kl (St &)
. = SIE]
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
OHANEX =g +
100,000& 2074 2,000
OUSFY SYHES M £7Y 7Y
4,000& +5,0004 20,000
ONEEE 2elx)g (=02 HE
+=HAl ) 400,000 & 54 2,000
ONas3dHEEY 52 2d 25 7l 3,000
—-g4=2 J18s ME 4,000& *500H 2,000
—-d4ds MEgas 2 2,000& 5004 1,000
OHRXHE WetAty 227 16,000
— A SHEX 400& 10,0002 4,000
—2AdXK 800& *15,000% 12,000
OHE =% OtHAE HSE 72
200,000 *3CH 600
OHIE =9 DHHAIE A28 7
200,000& »32! 600
OH& =9 220 M
2,000 *1,0000H 2,000
O SAEA LHus M M=
15,0003 #4022 600
ONENEE EE2EF MH
1,000&*5,000H 5,000
OOt 22ItE U U7 & A28 #
2 100,000 *5JH4 500
ORelg =1Y 2 500& 20,0004 10,000
OFB01H ME=HH HILSE 2(1200)
2002 x25,00004 5,000
02 E2324H| 114,400 94,300 20,100
OIIZINIZ2Z2X Moll2& HUBH
100,000 *33] 300
OgsHYIZ2 Eotd 72+
700,000 *10JH 2 7,000
ONgsdgEd MIIe3
8,000,000& =123 96,000
ONgs3HEd ==
500,000 12 6,000
OUEEIIEMS R4 HotE HIIes
300,000& =123 3,600
OelEXls MEEE N5+ A2
250,000 *4CH 1,000
Oassd 82 WIItESAE DI=EE
== 500,000& *13] 500
03 AL2 | 2,000 3,000 A1,000
OXNS=H HeEE s28A 24
1,000,000 *23| 2,000
207 AR 9,500 9,500
01 2 EGH| 9,500 9,500




A =2t
Hm: ZRICA X4
Rl dEM Dol HEH Xl EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEBEAEE D29e 2% SEI}
2 28U MEEH 9,500,000& 12 9,500
301 EtE2 NS 3,040 3,300 260
11 #AIAHIXIZ S 1,540 1,800 A260
OMEBBAEA 2ETT A
8,000 x24! %40 640
Ol LN dLHuT SA+E
300,000& *32 900
14 IIEt2d3 1,500 1,500 0
oglslEss UKg ¢l 243
50,0002 =104 500
O2¢ct2! OIfE § &F3 7Y
10,0002 *50& »23] 1,000
307 212+01& 2,445,835 2,5%,873 151,038
05 2ItRIE = 2,445,835 2,596,873 /151,038
ONgEsdEY 22eE e 2,445,835
e i) AR el 3,226,250 4,493,006 A1,266,756
307 elztol & 3,226,250 4,423,006 1,196,756
05 212t =S 3,226,250 4,423,006 A1,196,756
O42t Sz Jrdd H2HD|I= 22
dxel === 3,206,250
OHX Ity daidgD| 28
12,5003 *1,600& 20,000
METHRS| =HIEH SHSAY 3,871,321 2,537,500 1,333,821
= 1,446,000
== 1,262,100
Al 1,163,221
401 AIEHIZ SR OHYI 3,871,321 2,537,500 1,333,821
= 1,446,000
= 1,262,100
Al 1,163,221
01 AlZ2H| 3,515,281 2,120,000 1,395,281
OUE | =HIE HSIAIE SAH] 3,515,281
= 1,341,934
= 1,173,347
Al 1,000,000
02 Zeltl 349,053 407,500 N58,447
OUE I =HIE UHIAIE ZelE8SH] 349,053
= 102,032
= 87,021
Al 160,000
03 AlESTHYI 6,987 10,000 23,013
OUE I =HIE HSIAIE AIE 20 6,987
= 2,034




A =2t
M ZecAl &4
Sl MEMDo eHEA XHel (St &)
L FE - SRAE) - MRAY - BES of v G o HIDE2
< 1,732
Al 3,221
=g X 492,302 1,014,300 521,998
= 66,100
< 106,190
Al 320,012
HOl= =cliiE =01 191,302 213,300 A21,998
= 57,390
Al 133,912
101 @124H| 191,302 213,300 21,998
= 57,390
Al 133,912
JRHMZENSE s 191,302 213,300 A21,998
OdetFo &AL 12| 189,334
-Jl== 9,860 «6A| 2H* 128~ 168 119,267
< 35,780
Al 83,487
—=4 5,0003 * 122 +168 10,080
= 3,024
Al 7,05
RPNEE =S
9,860 «6A| 2H* 12 +8L 5,680
== 1,704
Al 3,976
-RERLre
9,860 *6AI 2+ 12 +44 31,237
= 9,371
Al 21,866
- == 14,7903 16A1 2+ 12 2,840
=S 852
Al 1,988
-58= 20,230
< 6,069
Al 14,161
OdgetZoll &At 2eltl 1,968
—I=Hl 100,000 * 12 1,200
=S 360
Al 840
-S2=¢gl 8,000 »82] x12H 768
< 230
Al 538
SEHHIE =HEa=2 X 68,000 126,000 /58,000
= 14,000




A =2t
Hm: ZRCA X4
el Aeee A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 14,000
Al 40,000
301 EtE NS 68,000 126,000 /58,000
= 14,000
== 14,000
Al 40,000
14 JIEt2d = 68,000 126,000 /58,000
SEHHE +)243
1002 680, 000kg 68,000
= 14,000
== 14,000
Al 40,000
GsHIIE =HMl KA 28,000 50,000 22,000
= 8,400
Al 19,600
201 Ler23| 28,000 50,000 22,000
= 8,400
Al 19,600
01 AtR2t2|HI 28,000 50,000 /22,000
OgsHlIZ2 s=HHel NJAY
350,000& *80= 28,000
s 8,400
Al 19,600
CalZI] AL S8 X2 A 100,000 580,000 480,000
= 50,000
Al 50,000
201 er23| 100,000 0 100,000
= 50,000
Al 50,000
01 AtR2telHl 100,000 0 100,000
OotzlEI| ME 7 25,0002 *4,000SET 100,000
= 50,000
Al 50,000
eI8Xs NEzg 3l=2R 4XAMY 98,000 0 98,000
[ 26,400
Al 71,600
401 Al HIZL 201 98,000 0 98,000
= 26,400
Al 71,600
01 Al&HI 98,000 0 98,000
OOIBXIS =8Ne 3422 72 41
22,000, 0002 =4CH 88,000
= 26,400
Al 61,600
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i’
oF
uJ

M
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o < o
B L <E
o]

-2
DN

2M: X
X XH
(=2
2|

-

KIO

Hlw

7,000

7,000

7,000

30,000
30,000

500,000
500,000
500,000
A2,927,500

AT7,997,400

10,872
10,872
10,872
4,560
4,560

5,760
552
552

5,760

HMEE
Ofl &k2h

8,527,400
2,957,500

70,752
70,752
70,752
35,784
35,784

28,800
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